What's wrong with these?

Tell me what's wrong with each sentence.

1. 1like going to the restaurants because | don't like food.

The statement and reason don’t match. You like restaurants so you like food.

2.1 love swimming because | love London.

The statement and the reason don’t match. Swimming and London have nothing to do
with each other.

3. I want to going to London because | want to see Buckingham Palace.
You can't have 'to + continuous form of the verb’.
To eating = x

To drinking = x

4. She like skiing because she love cold weather.

She likes skiing because she loves cold weather.

5. My friends love watching football because they like watching football.

The statement and the reason are the same - it sounds odd.

6. David likes wearing a suit because they are beautiful.

Nothing - it's correct!
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